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MA THE MA TICS 
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Additional materials: Optical Answer Sheet (OAS) Total Time For Booklets A & B : 1 h 45 min 

Name 

Class Primary 4 / _________ _ 

Date 30 October 2023 

Maths Teacher: __________ _ 

INSTRUCTIONS TO CANDIDATES 

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO. 

FOLLOW ALL INSTRUCTIONS CAREFULLY. 

ANSWER ALL THE QUESTIONS. 

SHADE YOUR ANSWERS IN THE OPTICAL ANSWER SHEET (OAS) PROVIDED. 















































SCHOOL : 
LEVEL 

BJECT : 
TERM 

 

BOOKLET A 

Q1 3 

Q6 1 

Q11 2 

BOOKLET B 

Q16 

Q17 

Q18 

Q19 

Q20 

Q21 

Q22 

Q23 

Q24 

Q25a 

Q25b 

Q26 

10097 

7 and 3 

29 
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Q2 3 Q3 2 Q4 

Q7 3 Q8 4 09 

Q12 1 Q13 4 Q14 

3 
-

' 5 

�� 

B 

b) 2 hr 33 min

Q27 
36 + 4 = 9 

9 X 9 = 81 m2 

Q28 a) P b) T

3 Q5 2 

1 Q10 2 

3 Q15 2 
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Q29 

Q30 

Q31 

Q32 

Q33 

Q34 

Q35 

! I I 

4u = 8.34 km 

1 u = 2.085 km :::: 2.09 km 

$8.65 + $7.45 = $16.10 

95 + 70 + 65 + 35 = 265 

48 + (36 X 2) = 120 

20 x 7 = 140 cm 

Q36a $14.50 + $6.90 = $21.40 

Q36b $31 + ($8.90 X 3) = $57.70 

Q37 a 80 - 72 = 8 

10u = 80 

1u = 8 
Q37b 

7u = 56 

80 - 56 = 24 

No. of pupils = 386 + 125 = 511 

Q38a 511 + 8 = 63 R 7 

63 + 1 = 64 

Q38b 7 

Area A = 6 x 1 0 = 60 m2 

Area B = 3 x 6 = 18 m2 

Q39a 
Area C = 4 x 11 = 44 m2 

Total area = 60 + 18 + 44 = 122 m2 

Q39b 10 + 12 + 3 + 5 + 4 + 11 + 3 + 6 = 54 m 

No. of girls = 36 - 12 = 24 

Q40a . No. of girls 24 2 
Fraction = 

Total pupils 
= 

36 
= 

3 

Q40b 

9 4 5 
Do not wear spectacles = -

9 
- -

9 
= -

9 

5 X 4 = 20 

1 book = 4 pencils 

Q41 a 7 pencils cost $7 .56 

1 pencil = $7 .56 + 7 = $1.08 

Pg 2 



O41b $1.08 X 4 = $4.32 

Common factors of 90 and 72 = 1, 2, 3, 6, 9, 18 

O42a Ans is the greatest common factor because she packed them into as 

MANY bags as possible 

O42b 5+4 = 9 

3 erasers = 3 x $0.95 = $2.85 

O43a 
3 pens = $2.85 + $2.40 = $5.25 

1 pen = $5.25 + 3 = $1.75 

$1.75 - $0.95 = $0.80 

O43b $0.80 + $0.95 = $1.75 

Pg 3 


